BK S:t Erik
Helgrally 3 2017-01-02

Partavling, 28 bord, 55 par. Antal brickor: 24. Medel: 624.2. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID
1 3 826.0 66.19 Peter Carlsson - Per Leandersson 11594 87992
2 47 822.0 65.87 Thomas Malmstrém - Mikael Lundin 17048 17526
3 63 812.0 65.06 Lars Nilsson - Magnus Lindkvist 43950 1831
4 31 783.0 62.74 Kjell Henriksson - Mats Forsmark 89638 93623
5 7 751.0 60.18 Fredrik Alfredsson - Peter Flodgvist 83200 14778
6 12 741.0 59.38 (ES) Thomas Wingvist - Gudrun Strandberg +3490 4143
7 21 733.0 58.73 Henrik Arve - Magnus Arve 40422 40423
8 62 727.0 58.25 Johan Wabhlberg - Simon Hult 23539 36107
9 78 723.4 57.97 Peter Ingvarson - Johan Linander 34782 88360
10 34 722.0 57.85 Tommy Eneqvist - Claes Melin 2243 9105
11 42 719.0 57.61 Lennart Wiklander - Inga Wasteby 17072 10912
12 72 715.4 57.33 Max Odlund - Bim Odlund 9267 9266
13 73 702.9 56.32 Erik Tornvall - Agneta Aicardi-Holmstrom 52901 50831
14 74 698.3 55.95 Stefan Andersson - Eva Blomberg 84771 83300
15 9 697.0 55.85 Per Soderberg - Lennart Kjellman 18380 90879
16 50 693.0 55.53 Kerstin Kinnander - Thomas Holmgren 92567 35902
17 28 673.0 53.93 Klara Asplund - Emanuel Unge 46434 49509
18 64 672.0 53.85 Markus Bertheau - Andreas Abragi 57666 58640
19 43 660.0 52.88 Kare Bremer - Birgitta Bremer 34706 34707
20 26 657.0 52.64 Eva Menzing - Agneta Jakobsson 57693 57687
21 23 652.0 52.24 Jan Christiernin - Gunnar Ericsson 50692 54133
22 41 647.0 51.84 Anders Bjorkman - Bengt Stahre 56099 2409
23 77 642.3 51.47 Carmen Tuason - Lars Manneteg 89810 2944
24 51 639.0 51.20 Elsy Bergstedt - llja Krusnell 16858 25840
25 25 634.0 50.80 Jan Schneider - Ester Schneider 33409 55083
26 44 633.0 50.72 UIf Andersson - Per-Ove Olsson 89266 92989
26 67 633.0 50.72 Anders Hellstrém - Caroline Tesch 83725 80715
28 76 627.4 50.27 Johan Englund - Magnus Uhlin 53131 52799
29 22 627.0 50.24 Birger Bogstag - Jan Nordlund 53063 23124
30 48 613.0 49.12 Goran Folke - Per Molin 56930 57796
31 6 599.0 48.00 (ru) Andrew Korolew - (ru) Svetlana Minenkova +3571 +3572
32 4 596.0 47.76 Irene Rune - Erik Mjoberg 85381 32761
33 33 592.0 47.44 Niklas Hanson - Ulla-Britt Olsson 53164 32894
34 29 591.0 47.36 Ake Falkunge - Michael Jungstedt 9025 9100
35 2 589.0 47.20 Castor Mann - Peter Bertheau 58464 16757
36 46 588.0 47.12 Hans Hultqvist - Maud Wedin 2199 30160
37 5 585.0 46.88 Olle Robin - Peter Gavatin 12496 1634
38 66 578.0 46.31 Inger Gerle - Susann Mattsson 39792 44611
39 52 577.0 46.23 Johan Tesch - Karin Dufwa 26150 41938
40 8 572.0 45.83 Maria Calissendorff - Annie Gahm 79968 32797
41 53 566.0 45.35 Lennart Roth - Marie Roth 92055 92056
42 10 561.0 44.95 Bengt Eklind - UIf Lindgren 9008 89486
43 54 560.0 44.87 Lars Engebeck - Lil Danielsson 3130 15416
44 30 540.0 43.27 Riitta Wennberg - Gosta Bengtsar 33280 33443
45 24 533.0 42.71 Peder Jensen - Robert Thorstenson 44612 56827
46 45 520.0 41.67 Ake Farnlof - Birgitta Lindborg 40561 44925
47 1 510.0 40.87 Christian Wiechel - UIf LanderEng 88390 87174
48 71 508.6 40.75 Monika Olsson - Gunn-Britt Rudenheim 49367 58075
49 65 506.0 40.54 Mats Engman - Matti Jansson 17465 91368
50 27 502.0 40.22 Anna-Lena Bjork - Eva Benckert 46251 22867
51 49 499.0 39.98 Christina Martin - Asa Trollborg 59973 61414
52 32 497.0 39.82 Agneta Shanwell - Christine Hargevik 44636 54660
53 11 461.0 36.94 Peter Friberg - Torbjorn Graslund 24487 83473
54 75 460.6 36.90 Lars Dackander - Agneta Persson 6365 2263
55 61 364.0 29.17 Agneta Boberg - Karin Lagerman 52813 57761
1 4 ED94 2 41083 3 4 Kn10765
Nord v KKn742 Ost vKn84 Syd vE62
Ingen ¢ E NS + EK984 ov + 1097
#0952 32 #106
452 4 Kn63 4 E75  KDKn942 a- 4 D2
vD8 v 10953 v D93 v 10752 vK10983 v54
¢ KKn943 ¢ 1052 ¢ Kn5 ¢ 62 + D854 + Kn32
#KKn106 #ED4 #EKD108 &Kn #D853 #EKKN972
4 K1087 46 4« EK9843
vEG6 v EK6 v DKn7
+ D876 + D1073 + EK6
£873 #97654 &4
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 1 44 S+1 45 450 52.0 00| 2 11 44 0O-1 vA 50 36.0 16.0(10 5 44 S+1 v8 450 49.0 3.0
8 6 44 S= a5 420 40.0 120| 7 12 44 O-1 vA 50 36.0 16.0(34 33 44 S+1 vT 450 49.0 3.0
10 5 44 S= ¢4 420 400 120 8 6 44 0-1 vA 50 36.0 16.0(45 49 44 S+1 v9 450 490 3.0
21 28 44 S= ¢3 420 400 120 9 1 44 0-1 vA 50 36.0 16.0 (52 43 44 S+1 &5 450 49.0 3.0
26 31 44 S= a5 420 40.0 12.0(21 28 44 V-1 ¢ A 50 36.0 16.0| 2 11 44 S= v9 420 29.0 23.0
41 48 44 S= &7 420 40.0 12.0(24 27 44 O-1 vA 50 36.0 160 4 3 44 S= &5 420 29.0 23.0
44 A7 44 S= a5 420 40.0 12.0(25 29 44 O-1 vA 50 36.0 16.0| 7 12 44 S= ¢5 420 29.0 23.0
50 42 44 S= ¢9 420 40.0 12.0(30 22 44 O-1 vA 50 36.0 16,0 8 6 44 S= vT 420 29.0 23.0
54 53 44 S= T 420 40.0 12.0(34 33 44 O-1 vA 50 36.0 160 9 1 44 S= «3 420 29.0 23.0
64 77 44 S= ¢2 420 40.0 12.0(41 48 44 O-1 vA 50 36.0 16.0(21 28 44 S= &5 420 29.0 23.0
72 65 44 S= a5 420 40.0 12.0(45 49 44 O-1 vA 50 36.0 16.0(24 27 44 S= ¢5 420 29.0 23.0
73 62 44 S= ¢3 420 40.0 12.0(50 42 44 O-1 vA 50 36.0 16.0(26 31 44 S= v9 420 29.0 23.0
2 11 24 S+3 45 200 28.0 24.0|54 53 44 O-1 vA 50 36.0 16.0(30 22 44 S= «Q 420 29.0 23.0
4 3 34 N+1 T 170 18.0 34.0|64 77 44 V-1 ¢ A 50 36.0 16.0|46 51 44 S= *«Q 420 29.0 23.0
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7 12 34 S+1 a5 170 18.0 34.0(66 74 44 O-1 *7 50 36.0 16.0|50 42 44 S= +5 420 29.0 23.0
25 29 24 S+2 +3 170 18.0 34.0|67 76 44 V-1 *A 50 36.0 16.0|54 53 44 S= &5 420 29.0 23.0
32 23 24 S+2 6 170 18.0 34.0|72 65 44 O-1 vK 50 36.0 16.0(64 77 44 S= +5 420 29.0 23.0
34 33 34 S+1 +3 170 180 34.0(10 5 34 0= vA -140 17.0 35.0(67 76 44 S= &5 420 29.0 23.0
45 49 24 S +2 5 170 18.0 34.0(73 62 34 O= vA -140 17.0 35.0(72 65 44 N= &5 420 29.0 23.0
46 51 34 S+1 a5 170 18.0 34.0(75 63 24 V+3 3 -200 14.0 38.0(75 63 44 S= &5 420 29.0 23.0
67 76 34 S+1 2 170 18.0 340 4 3 44 O+1 vA -450 6.0 46.0(44 47 54 0O-1 ¢+A 100 12.0 40.0
75 63 24 S+2 45 170 18.0 34.0(26 31 44 O+1 vA -450 6.0 46.0|25 29 44 S-1 *5 -50 6.0 46.0
30 22 34 S= 42 140 8.0 44.0|32 23 44 V+1 ¢ A -450 6.0 46.0|32 23 54 S-1 3 -50 6.0 46.0
24 27 44 S-1 a5 -50 3.0 49.0(44 47 44 O+1 vA -450 6.0 46.0|41 48 64 S-1 v9 -50 6.0 46.0
52 43 44 S-1 &T -50 3.0 49.0|46 51 44 O+1 vA -450 6.0 46.0|61 71 54 S-1 »5 -50 6.0 46.0
61 71 44 S-1 LN -50 3.0 49.0|52 43 44 O+1 vA -450 6.0 46.0|66 74 64 S-1 +5 -50 6.0 46.0
66 74 44 N-1 *T -50 3.0 49.0|61 71 44 O+1 vA -450 6.0 46.0|73 62 64 S-2 »5 -100 0.0 52.0
- 78 301 - 78 301 - 78 30.1
4 « D7542 5 « DKn975 6 s E
Vast v 82 Nord vE10863 Ost vD7542
Alla ¢ E743 NS +5 ov + Kn1098
#103 #Kn5 &Kn72
» EK98 463 442 4 K3 4Kn92 47543
v76 v Kn4 v 754 v KKn9 v K3 v Kn86
¢ 102 + KDKn986 ¢DKn8 ¢ E10932 ¢ KD432 ¢E75
#EKNn764 #K95 #KD972 #E103 K43 #EDI10
4 Kn10 « E1086 « KD1086
v EKD10953 vD2 vE109
+5 ¢+ K764 +6
D82 #3864 #9865
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang
22 29 4v S= sA 620 520 0.0[21 27 24 S+3 v4 200 520 00| 5 4 INV-3 v4 300 52.0 0.0
45 48 5¢D O -2 vA 500 50.0 20|26 30 34 N+1 ¢A 170 50.0 20| 3 11 24DO-1 ¢6 200 43.0 9.0
67 75 34 V-2 v8 200 48.0 4.0(44 54 44V -3 ¢5 150 48.0 4.0(21 27 3¢ V-2 +J 200 43.0 9.0
3 11 3v S= oA 140 41.0 11.0|41 47 24 S+1 +Q 140 440 8.0|25 28 2NO-2 8 200 43.0 9.0
10 6 3vS= ¢T 140 41.0 11.0|62 72 34 S= +Q 140 440 8.0|44 54 24 O-2 +6 200 43.0 9.0
21 27 3v S= ¢T 140 410 11.0(67 75 34 S= &4 140 440 8.0(53 52 44 O-2 ¢+6 200 43.0 9.0
26 30 3v S= oA 140 410 110 9 2 3NO-2 A 100 40.0 12.0|66 73 4¢ V-2 v2 200 43.0 9.0
44 54 3v S= A 140 41.0 11.0| 3 11 2NO-1 a4 50 36.0 16.0|67 75 3¢ V-2 aA 200 43.0 9.0
66 73 3v S= A 140 410 11.0(25 28 3NO-1 3 50 36.0 16.0(76 64 3NO-2 6 200 43.0 9.0
33 32 2vS= ¢+2 110 340 18.0(46 50 2NO-1 s A 50 36.0 16.0|45 48 2v N+2 ¢A 170 33.0 19.0
5 4 50 0-1 vK 100 30.0 22.0|31 23 INO= 46 -90 31.0 21.0|46 50 2v N +2 ¢A 170 33.0 19.0
8 12 4+ V-1 v8 100 30.0 22.0(42 49 INV= LYo -90 31.0 21.0|31 23 2v N+1 ¢A 140 30.0 22.0
74 63 5¢ O-1 vA 100 30.0 22.0|51 43 44 S-1 &K -100 28.0 24.0(42 49 2y N= +5 110 27.0 25.0
9 2 3vS-1 s A -100 22.0 30.0(74 63 3&V-= 4Q -110 26.0 26.0(51 43 2v N= +5 110 27.0 25.0
25 28 3vS-1 s A -100 220 300( 8 12 2NO= 48 -120 21.0 310( 1 7 3NO-1 +6 100 23.0 29.0
42 49 4v S-1 v7 -100 22.0 30.0(33 32 2NO= 46 -120 21.0 31.0(22 29 3NV-1 v2 100 23.0 29.0
53 52 3v S-1 *T -100 22.0 30.0(45 48 2NO= 48 -120 21.0 31.0(65 71 INN= a7 90 20.0 32.0
65 71 4v S-1 s A -100 22.0 30.0(53 52 2NO= 46 -120 21.0 31.0(24 34 Pass 18.0 34.0
46 50 3¢ O= vA -110 16.0 36.0( 1 7 4aV= +5 -130 13.0 39.0(33 32 2NN-1 *A -50 16.0 36.0
1 7 4¢ 0= vA -130 9.0 43.0(10 6 4¢ O= LY -130 13.0 39.0( 8 12 14 O= +6 -80 13.0 39.0
24 34 44 O= vA -130 9.0 43.0|122 29 4¢ O= 6 -130 13.0 39.0(74 63 14 O= 6 -80 13.0 39.0
31 23 3¢ O+1 vA -130 9.0 43.0(66 73 3¢ O+1 8 -130 13.0 39.0( 9 2 INV= v2 -90 7.0 45.0
41 47 44 O= vA -130 9.0 430 5 4 2NO+2 46 -180 7.0 45026 30 INV= +*J -90 7.0 45.0
61 78 4¢ O= vA -130 9.0 43.0|24 34 INO+3 *8 -180 7.0 45.0|61 78 INO= vT -90 7.0 45.0
76 64 4¢ O= vA -130 9.0 43.0|65 71 3NO= vQ -400 40 48.0(62 72 INO= s K -90 7.0 45.0
51 43 4vDS-1 LY -200 1.0 51.0|76 64 3NO+2 48 -460 20 500|10 6 3#S-2 + K -100 2.0 50.0
62 72 4v S-2 s K -200 1.0 51.0|61 78 3vyDN-2 *A -500 0.0 52.0|41 47 INV+2 +J -150 0.0 52.0
- 77 268 - 77 268 - 77 26.8
7 10765 8 47652 9 «ED
Syd v K95 Vast v 932 Nord v 1092
Alla ¢+ D54 Ingen ¢ Kn108 ov ¢ 107
D103 #653 #EKD954
49 « EKD82 & KKn9 « E83 4 K106 & Kn87
vD1084 v2 vDKn864 vE7 v 85 vED763
¢ KKn1076 ¢ E98 + K52 +73 ¢+ KDKn953 ¢ E84
#E76 #Kn985 #EKn #K109872 106 »82
 Kn43 « D104 495432
v EKNn763 v K105 v KKn4
¢32 + ED964 ¢ 62
»KA42 D4 #Kn73
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 8 3NO-1 v2 100 48.0 4.0|43 50 3NV-2 v2 100 51.0 10|65 78 4¢ V-2 «A 200 52.0 0.0
6 5 3NV-1 47 100 480 4.0(46 49 3NV-2 +J 100 51.0 1.0(52 51 34 N+3 «J 170 50.0 2.0
26 29 3NV-1 6 100 48.0 4.0| 1 12 3NV-1 +J 50 47.0 50| 2 8 24 N+1 9 140 450 7.0
41 54 3NO-1 5 100 48.0 4.0|26 29 3NV-1 +J 50 47.0 5.0|46 49 24 N+1 8 140 450 7.0
42 48 44 V-1 v5 100 480 4.0(52 51 2NV= +J -120 440 8.0(63 73 24 S+1 v8 140 450 7.0
22 28 38 V= 46 -110 41.0 11.0(23 30 3NV= v9 -400 40.0 12.0(66 72 24 N+1 48 140 450 7.0
62 71 24 O= 43 -110 410 11.0({62 71 3NV= v3 -400 40.0 12.0(21 34 3&N+1 ¢A 130 35.0 17.0
21 34 2NV = 46 -120 38.0 14.0(63 73 3NV= Ly -400 40.0 12.0(22 28 34 N+1 ¢A 130 35.0 17.0
25 27 3¢ V+1 3 -130 34.0 18.0(33 24 3NV +1 a7 -430 30.0 22.0(26 29 3# N+1 8 130 35.0 17.0
46 49 24 O +2 +3 -130 34.0 18.0(41 54 3NV +1 a5 -430 30.0 22.0(33 24 44 N= ¢A 130 35.0 17.0
74 67 34 O+1 *2 -130 34.0 18.0(42 48 3NV +1 a7 -430 30.0 22.0(53 44 34 N+1 #2 130 350 17.0
9 3 2NV+1 46 -150 28.0 24.0(61 77 3NV +1 +8 -430 30.0 22.0(62 71 44 N= ¢4 130 350 17.0
32 31 24 O+3 +3 -150 28.0 24.0(66 72 3NV +1 a5 -430 30.0 22.0(74 67 24 S= v8 110 28.0 24.0
45 47 1INV +2 *4 -150 28.0 24.0(74 67 3NV +1 +J -430 30.0 220 1 12 INV-1 A 100 18.0 34.0
61 77 1INV +3 3 -180 23.0 29.0(75 64 3NV +1 a2 -430 30.0 220 9 3 3¢ V-1 «A 100 18.0 34.0
63 73 1INV +3 v5 -180 23.0 29.0( 2 8 3NV+2 v2 -460 11.0 41.0(11 4 3¢+ V-1 «A 100 18.0 34.0
33 24 2vS-3 9 -300 20.0 320 6 5 3NV+2 +J -460 11.0 41.0(25 27 3¢ V-1 A 100 18.0 34.0
1 12 3NV= v5 -600 16.0 36.0| 9 3 3NV+2 a5 -460 11.0 41.0(41 54 3¢ V-1 «A 100 18.0 34.0
43 50 3NV = 3 -600 16.0 36.0(10 7 3NV +2 a5 -460 11.0 41.0(42 48 4¢ O-1 «A 100 18.0 34.0
65 78 3NV = v9 -600 16.0 36.0(11 4 3NV +2 3 -460 11.0 41.0(43 50 3¢ V-1 «A 100 18.0 34.0
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11 4 3NV +1 v5 -630 9.0 43.0(21 34 3NV +2 +J -460 11.0 41.0(45 47 3¢ V-1 «A 100 18.0 34.0
23 30 3NV +1 v2 -630 9.0 43.0(22 28 3NV +2 a5 -460 11.0 41.0(75 64 3¢ V-1 «A 100 18.0 34.0
52 51 3NV +1 3 -630 9.0 43.0|25 27 3NV +2 46 -460 11.0 410 6 5 34S-1 +Q -50 6.0 46.0
75 64 3NV +1 a5 -630 9.0 43.0(32 31 3NV+2 a5 -460 11.0 41.0({10 7 34 S-1 + K -50 6.0 46.0
10 7 3NV +2 v5 -660 3.0 49.0(45 47 3NV +2 45 -460 11.0 41.0(32 31 44 N-1 *A -50 6.0 46.0
53 44 3NV +2 v9 -660 3.0 49.0|53 44 3NV +2 a2 -460 11.0 41.0(23 30 3¢ V= *A -110 1.0 51.0
66 72 3N O +3 v3 -690 0.0 52.0(65 78 3NV +2 a2 -460 11.0 41.0(61 77 3¢ V= &A -110 1.0 51.0
- 76 261 - 76 261 - 76 26.1
10 # 108653 11 «D1085 12 #1097
Ost vD105 Syd vD6 Vast v EK974
Alla +6 Ingen ¢ Kn53 NS ¢+ EK4
#E987 &E732 &73
& Kn2 «ED4 464 & EK9 « KDKn53 & E62
vEK7642 vKn3 vE8742 vKKn10953 v 106 v Kn5
+Kn842 ¢ EKD75 + KD6 *74 41032 + DKn976
»5 #KD2 #954 #Knl10 #EKn4 #KD5
« K97 4 Kn732 484
v 98 v- v D832
41093 ¢ E10982 ¢85
#Kn10643 #KD86 109862
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang
3 1 66V-1 3 100 440 8.0|51 50 5vDV-1 5 100 520 00| 3 1 44DV-2 vA 300 51.0 1.0
12 2 6v0O-1 47 100 440 8.0|43 49 4v O-1 &K 50 50.0 20|63 72 44DV-2 ¢+A 300 51.0 1.0
22 27 4v O-1 «J 100 440 80| 9 4 44 N-1 vK 50 46.0 60| 9 4 44DV-1 ¢A 100 42.0 10.0
31 30 6v V-1 +6 100 440 8.0|31 30 44 N-1 *7 50 46.0 6.0|/10 8 44 V-2 vA 100 42.0 10.0
32 24 64 V-1 «A 100 440 8.0|46 48 34 N-1 *] -50 46.0 6.0|21 33 44 V-2 vA 100 42.0 10.0
41 53 6NO-1 «J 100 440 8.0|42 47 44 N-2 v3 -100 41.0 11.0(42 47 44 V-2 vA 100 42.0 10.0
43 49 4v V-1 +6 100 440 8.0|67 73 44DN-1 v9 -100 41.0 11.0(52 44 4e V-2 vA 100 42.0 10.0
54 45 4v O-1 v9 100 440 80| 7 6 3v O+l *K -170  36.0 16.0(64 74 44 V-2 ¢+A 100 42.0 10.0
77 65 6v O-1 47 100 440 8.0(23 29 3v O+1 ¢ A -170 36.0 16.0(66 71 44 V-2 ¢A 100 42.0 10.0
66 71 3NO= 3 -600 34.0 18.0(63 72 3v O +1 &K -170 36.0 160 7 6 34 V-1 vA 50 23.0 29.0
9 4 4v 0= *] -620 31.0 21.0(62 78 44D N-2 *7 -300 32.0 20.0(11 5 4eV-1 *A 50 23.0 29.0
63 72 5¢ O+1 v5 -620 31.0 21.0({10 8 4v O= 3 -420 19.0 33.0(12 2 4a4 V-1 +K 50 23.0 29.0
7 6 4vV+l 6 -650 20.0 32.0(12 2 4v V= &K -420 19.0 33.0(23 29 4e V-1 *A 50 23.0 29.0
10 8 4v O+1 v9 -650 20.0 32.0(22 27 4v O= 43 -420 19.0 33.0(26 28 44 V-1 *A 50 23.0 29.0
11 5 4v V+1 +6 -650 20.0 32.0(26 28 4v O= &K -420 19.0 33.0(32 24 44 V-1 vA 50 23.0 29.0
21 33 4v V+1 +6 -650 20.0 32.0(32 24 4v O= &K -420 19.0 33.0(34 25 4e V-1 a7 50 23.0 29.0
26 28 4v O+1 a7 -650 20.0 32.0(34 25 4v O= &K -420 19.0 33.0(54 45 44 V-1 vA 50 23.0 29.0
51 50 4v O+1 v9 -650 20.0 32.0(41 53 4v O= &K -420 19.0 33.0(61 76 34 V-1 ¢ A 50 23.0 29.0
52 44 4v O +1 %] -650 20.0 32.0(52 44 4v O= &K -420 19.0 33.0(62 78 4e V-1 vA 50 23.0 29.0
62 78 4v O +1 *] -650 20.0 32.0(54 45 4v O= &K -420 19.0 33.0(67 73 44 V-1 *A 50 23.0 29.0
64 74 5v O= *J -650 20.0 32.0(64 74 4v O= &K -420 19.0 33.0(77 65 44 V-1 ¢ A 50 23.0 29.0
34 25 3N O +2 %] -660 8.0 44066 71 4v O= 3 -420 19.0 33.0(31 30 24 V= *A -110 8.0 44.0
42 47 3N O +2 3 -660 8.0 44077 65 4v O= 43 -420 19.0 33.0(43 49 24 V= vA -110 8.0 44.0
46 48 3N O +2 a7 -660 8.0 440| 3 1 5v0= 3 -450 40 48.0(51 50 3¢ O= vQ -110 8.0 44.0
61 76 5v V+1 +6 -680 30 49011 5 5v0O= 3 -450 40 48.0(22 27 24 V+1 *A -140 2.0 50.0
67 73 4v V +2 +6 -680 3.0 49.0|61 76 4v O+1 *T -450 4.0 48.0(41 53 24 V+1 vA -140 2.0 50.0
23 29 64 O= v9 -1370 0.0 52.0|21 33 5vDV= +3 -650 0.0 52.0|46 48 24 V+1 vA -140 2.0 50.0
7% - 19.2 7% - 19.2 7% - 19.2
13 « Kn1073 14 « K8763 15 4 K1087632
Nord v E1065 Ost vE103 Syd v 1052
Alla + D83 Ingen + 1053 NS ¢ E2
&ED K8 &6
& K62 4 D98 4104 & Kn2 495 «ED
v 87 v KKn93 vKn9854 vK72 vE4 v6
410962 ¢ EKn7 4942 + KDKn + KD76 ¢ 10954
#Kn1093 #654 #976 #D10543 #ED1094 #K87532
« E54 « ED95 « Kn4
v D42 vD6 v KDKn9873
¢ K54 + E876 ¢ Kn83
#K872 #EKn2 &Kn
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
42 54 3NN +1 v3 630 520 00| 4 2 44 S+2 6 480 50.0 20|21 32 5#V-1 v2 50 52.0 0.0
1 10 3NN= v9 600 42.0 10.0(22 34 44 S+2 ¢2 480 50.0 2.0(43 48 3vS-1 +K -100 47.0 5.0
23 28 3NS= +«J 600 42.0 10.0|63 71 44 S+2 a4 480 50.0 20|47 46 3v S-1 + K -100 47.0 5.0
44 51 3NN-= 49 600 42.0 10.0|12 3 3NN+2 *2 460 450 7.0|50 49 3vS-1 + K -100 470 5.0
50 49 3NN-= 48 600 42.0 10.0|(76 65 3N S +2 v5 460 450 7.0({63 71 3vS-1 + K -100 47.0 5.0
53 45 3NN= 8 600 42.0 10.0|11 6 44 N+1 ¢+K 450 340 18.0(41 52 4&V +1 v2 -150 41.0 11.0
61 75 3NN-= 49 600 42.0 10.0|21 32 44 N+1 ¢+K 450 34.0 18.0|78 66 4% O +1 vK -150 41.0 11.0
63 71 3NN-= vJ 600 42.0 10.0|24 31 44 S+1 T 450 340 180 1 10 4vS-2 49 -200 35.0 17.0
76 65 3NN-= +J 600 42.0 10.0|41 52 44 S+1 v7 450 340 180(12 3 4y N-2 + K -200 35.0 17.0
77 62 3NS= 42 600 42.0 10.0|47 46 44 S+1 &7 450 34.0 18.0|24 31 4v S-2 + K -200 35.0 17.0
4 2 INS+1 3 120 32.0 20.0(50 49 44 S+1 #9 450 340 18.0(61 75 4v S-2 49 -200 35.0 17.0
30 29 INS= *Q 90 29.0 23.0(53 45 44 S+1 v4 450 340 18.0(33 25 5v S-3 &*A -300 28.0 24.0
47 46 INS= *] 90 29.0 23.0(61 75 44 S+1 6 450 34.0 18.0|42 54 5v S-3 + K -300 28.0 24.0
9 5 3NN-1 »5 -100 18.0 34.0(78 66 44 S+1 #6 450 340 18.0|53 45 5v S-3 + K -300 28.0 24.0
21 32 3NN-1 *7 -100 18.0 34.0(27 26 3NS+1 9 430 23.0 29076 65 3NV = v2 -400 24.0 28.0
24 31 3NN-1 v9 -100 18.0 34.0(43 48 3NS+1 #9 430 230 290 4 2 540+1 vK -420 15.0 37.0
27 26 3NS-1 *J -100 18.0 34.0( 1 10 44 N= ¢K 420 140 380| 8 7 54V +1 v2 -420 15.0 37.0
33 25 3NS-1 *] -100 18.0 34.0( 8 7 44 N= ¢K 420 140 380 9 5 5#0+1 vK -420 15.0 37.0
41 52 3NS-1 *] -100 18.0 34.0( 9 5 44 S= v5 420 14.0 38.0|11 6 54V +1 ¢ A -420 15.0 37.0
43 48 3NN-1 v9 -100 18.0 34.0(30 29 44 N= ¢+K 420 140 38.0(22 34 54 0O+1 vK -420 15.0 37.0
67 72 3NN-1 v3 -100 18.0 34.0(44 51 44 N= ¢K 420 14.0 38.0(27 26 5#V+1 v2 -420 15.0 37.0
78 66 3NN-1 48 -100 18.0 34.0(64 73 44 S= v4 420 14.0 38.0(44 51 5# O +1 vK -420 15.0 37.0
11 6 3NN-2 »6 -200 7.0 45.0|77 62 44 S= v8 420 14.0 38.0|67 72 5 0O +1 vK -420 15.0 37.0
22 34 3NN-2 *4 -200 7.0 45033 25 24 N+4 +K 230 6.0 46.0(/30 29 5vDS-3 &*A -800 6.0 46.0
8 7 3NN-3 *2 -300 2.0 50.0|67 72 24 N+3 +Q 200 40 48.0(23 28 6& O = vK -920 4.0 48.0
12 3 3NN-3 »2 -300 2.0 50.0|23 28 INS+3 v4 180 2.0 50.0|77 62 64DV = v2 -1090 2.0 50.0
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64 73 3NS-3 EN -300 20 50.0|42 54 64 N-1 ¢+ K -50 0.0 52.0|64 73 6vyDS-4 ¢K -1100 0.0 52.0
- 74 291 - 74 291 - 74 29.1
16 4 Kn103 17 & K65 18 + 106
Vast v EK6 Nord vD1073 Ost v 1043
ov 410842 Ingen ¢ 432 NS ¢ Kn8764
»876 #D82 #DKn8
« E964 « D872 4ED108732 4Kn94 «DKn73 & K8542
vKnl1032 vD75 v EK5 v 642 vK976  vKn85
¢ED ¢ K765 +5 ¢ KD97 ¢32 ¢ EK10
«D53 *K4 #65 #Kn107 #965 *42
~ K5 a- ~E9
v 984 vKn98 vED2
¢ Kn93 + EKn1086 + D95
#EKn1092 #EK943 #EK1073
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
62 76 64 O-4 A 400 520 00|12 4 44DO-2 #2 300 51.0 1.0(54 46 2NS+2 v6 180 52.0 0.0
49 48 INO-3 T 300 50.0 2029 28 44DV-2 v7 300 51.0 1.0(24 30 INS+2 v6 150 50.0 2.0
34 26 44 O-2 ¢3 200 46.0 6.0(42 53 4#S= vA 130 48.0 4.0(42 53 INN+1 3 120 48.0 4.0
42 53 44 V-2 vA 200 46.0 6.0 9 6 4aV-2 &2 100 40.0 12.0(23 27 3#S= «Q 110 45.0 7.0
77 66 44 O-2 ¢3 200 46.0 6.0(23 27 44 V-2 «Q 100 40.0 12.0(25 32 3#S= «Q 110 45.0 7.0
2 10 34 O0-1 +3 100 35.0 17.0|41 51 44DV-1 ¢2 100 40.0 12.0(22 33 3+ V-1 *A 50 38.0 14.0
7 11 34 O-1 v9 100 35.0 17.0|44 50 4e V-2 &2 100 40.0 12.0(34 26 34 O-1 SA 50 38.0 14.0
12 4 24 0-1 v4 100 35.0 17.0(54 46 54 V-2 &2 100 40.0 12.0(43 47 34 O-1 *A 50 38.0 14.0
23 27 34 O-1 A 100 35.0 17.0|64 72 44DV-1 ¢2 100 40.0 12.0(45 52 34 O-1 *A 50 38.0 14.0
41 51 34 V-1 vA 100 350 17.0(65 75 44DV-1 ¢2 100 40.0 12.0(62 76 34 O-1 SA 50 38.0 14.0
44 50 34 O-1 v9 100 35.0 17.0(25 32 44 V-1 *4 50 29.0 23.0| 5 3 4+S-1 «Q -100 27.0 25.0
71 67 34 O-1 +3 100 35.0 17.0|49 48 4a V-1 *2 50 29.0 23.0| 7 11 4+S-1 +3 -100 27.0 25.0
78 63 44 O-1 +3 100 35.0 17.0|61 74 44 V-1 »2 50 29.0 23.0| 9 6 2NS-1 43 -100 27.0 25.0
9 6 240= v4 -110 20.0 32.0(77 66 44 V-1 &2 50 29.0 23.0|12 4 3#N-1 oK -100 27.0 25.0
21 31 24 O= +3 -110 20.0 32.0(34 26 5#S-1 vA -50 24.0 28.0|41 51 3NS-1 +3 -100 27.0 25.0
45 52 24 O= v4 -110 200 320 1 8 5#N-2 a4 -100 19.0 33.0(64 72 4¢ N-1 LN -100 27.0 25.0
54 46 24 O= v9 -110 20.0 320 7 11 5¢ S-2 vA -100 19.0 33.0(44 50 24 O= *A -110 17.0 35.0
61 74 24 O= *2 -110 20.0 320(62 76 5¢DS-1 vA -100 19.0 33.0(61 74 24 O= *2 -110 17.0 35.0
64 72 24 O= vA -110 20.0 32.0(78 63 5¢DS-1 vA -100 19.0 33.0(65 75 24 O= SA -110 17.0 35.0
65 75 24 O= +3 -110 20.0 32.0(22 33 24 V= &2 -110 14.0 38.0(78 63 24 O= *A -110 17.0 35.0
22 33 INV+1 vA -120 12.0 400 5 3 34 V= *4 -140 8.0 44.0|49 48 24 O+1 *A -140 11.0 41.0
1 8 240+1 *2 -140 7.0 45.0|24 30 34 V= *Q -140 80 44.0|71 67 34 O= SA -140 11.0 41.0
5 3 3eV= &7 -140 7.0 450|43 47 34 V= 2 -140 80 44.0|21 31 5#S-3 «Q -300 8.0 44.0
24 30 24 O+1 +5 -140 7.0 450|45 52 34 V= 2 -140 8.0 44.0|77 66 4y N-4 ¢ A -400 6.0 46.0
25 32 24 O+1 *9 -140 7.0 450|71 67 3& V= »2 -140 80 440| 2 10 5#DS-2 +3 -500 3.0 49.0
29 28 24 V+2 3 -170 20 50.0|21 31 5¢DS-2 vA -300 20 50.0|29 28 5¢DN-2 &4 -500 3.0 49.0
43 47 44 O= +3 -620 00 52.0| 2 10 5vDN-3 4 -500 0.0 520| 1 8 34DO= *A -530 0.0 52.0
- 73 29.3| - 73 29.3| - 73 29.3
19 » EK2 20 « DKn76 21 a2
Syd v EK6 Vast v Kn63 Nord v54
oV + Kn98 Alla ¢ 10975 NS ¢ EKn97
#EDKn6 62 #Kn108754
4D109864 &Kn3 4E1085 4K92 4 K643  4E987
vKn3 v 1095 vEK108 ¥5 v 108632 v97
¢ EK + D106432 ¢Kn63 #EKD2 + 86 ¢ 5432
#0932 *75 *K4 #E9853 «D9 #EK3
475 43 « DKn105
v D8742 v D9742 v EKDKn
¢75 ¢ 84 ¢ KD10
#K1084 #DKn107 #62
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 10 3NN+3 ) 490 46.0 6.0(12 5 6NO-3 «Q 300 520 0.0(64 71 3NN+2 +5 660 52.0 0.0
9 7 3NN+3 ] 490 46.0 6.0(42 52 6NV-2 T 200 48.0 4.0(12 5 3NS+1 ¢6 630 470 5.0
22 32 3NN+3 «J 490 46.0 6.0(43 54 6NV-2 «Q 200 48.0 4.0[22 32 3NN+1 8 630 47.0 5.0
42 52 3NN +3 ¢3 490 46.0 6.0(62 75 6NV-2 ¢5 200 48.0 4.0(28 27 3NS+1 v3 630 47.0 5.0
46 53 3NN +3 43 490 46.0 6.0 3 10 6NV-1 ¢9 100 36.0 16.0(65 74 3NS+1 4 630 470 5.0
62 75 3NN +3 v9 490 460 6.0 6 4 6NV-1 ¢T 100 36.0 160 2 1 3NS= v2 600 36.0 16.0
64 71 3NN+3 ] 490 460 6.0 9 7 640-1 +«Q 100 36.0 16.0 8 11 3NS= +8 600 36.0 16.0
2 1 49y N+2 4J 480 38.0 14.0(23 34 6NV-1 «6 100 36.0 16.0(24 29 3NN-= 5 600 36.0 16.0
6 4 3NN+2 ¢4 460 32.0 20.0(28 27 6NV-1 ¢T 100 36.0 16.0|26 33 3NN= «7 600 36.0 16.0
12 5 3NN+2 «J 460 32.0 20.0(48 47 6NV-1 ¢T 100 36.0 16.0(44 49 3NS= 4K 600 36.0 16.0
23 34 3NN+2 «J 460 32.0 20.0 50 41 6NV-1 ¢4 100 36.0 16.0 (63 77 3NS= v2 600 36.0 16.0
24 29 3NN +2 «J 460 32.0 20.0(63 77 6NV-1 «6 100 36.0 16.0|78 67 3NS= v2 600 36.0 16.0
66 76 3NN +2 ¢3 460 32.0 20.0(64 71 54 V-1 «Q 100 36.0 16.0(43 54 2NS+1 v3 150 27.0 25.0
8 11 4v S+1 ¢A 450 16.0 36.0|44 49 3&V +2 *6 -150 26.0 26.0(66 76 2NN +1 3 150 27.0 250
25 31 4v S+1 ¢+K 450 160 36.0| 2 1 3NV+1 *6 -630 23.0 290 9 7 3vS= «4 140 24.0 28.0
26 33 4v S+1 ¢K 450 16.0 36.0|22 32 3NV +1 +Q -630 23.0 29.0( 3 10 34 S+1 ¢6 130 20.0 32.0
28 27 4v S+1 ¢A 450 16.0 36.0|26 33 44 V+1 »6 -650 20.0 32.0(46 53 1#S+3 v6 130 20.0 320
30 21 4v N+1 v5 450 16.0 36.0{24 29 3NV +2 +Q -660 11.0 41.0(62 75 34 S+1 v2 130 20.0 32.0
44 49 4y N +1 &5 450 16.0 36.0|25 31 4NV +1 *T -660 11.0 41.0(50 41 2NS= v2 120 15.0 37.0
45 51 4v S+1 ¢K 450 16.0 36.0{30 21 4NV +1 46 -660 11.0 41.0(61 73 2NS= «Q 120 15.0 37.0
48 47 4v S+1 ¢A 450 16.0 36.0|46 53 3NV +2 v3 -660 11.0 41.0(45 51 2v S= +8 110 12.0 40.0
50 41 4v S+1 ¢K 450 16.0 36.0|61 73 3NV +2 a7 -660 11.0 41.0(30 21 34 O-1 vA 50 9.0 43.0
65 74 4v S+1 ¢K 450 16.0 36.0|65 74 3NV +2 46 -660 11.0 41.0(42 52 14 O-1 *K 50 9.0 43.0
78 67 4v S+1 ¢+K 450 16.0 36.0|66 76 3NV +2 +Q -660 11.0 41.0(25 31 3NS-1 v2 -100 5.0 47.0
63 77 3NN= 46 400 4.0 48078 67 5NV= *T -660 11.0 41.0(48 47 3NS-1 +8 -100 5.0 47.0
43 54 2NN +3 ) 210 20 50.0| 8 11 4NV +2 +Q -690 20 500| 6 4 5#N-2 & A -200 2.0 50.0
61 73 3v N+2 «J 200 0.0 52.0|45 51 6NV= «Q -1440 0.0 52.0|23 34 4vDS-4 «Q -1100 0.0 52.0
2 - 29.8 2 - 29.8 2 - 29.8
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& K7 « D743 «E10
v 97642 vE7 v EK96
+3 ¢+ E104 + 104
#Kn10752 #EKn72 #E9753
4D963 482 485 & K10962 4 K642 4D8
vE1053 ¥DKn v Kn943 v K62 vDKn4 10872
+ KD4 ¢+ E9752 +8 + K97 465 + E832
+D3 *E864 #KD10863 %94 #KD82 #Kn64
« EKn1054 « EKn 4« Kn9753
vK8 vD1085 v53
+ Kn1086 ¢ DKn6532 + KDKn97
K9 &5 £10
Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
2v V-3 K 300 520 00| 1 11 3NN+2 #9 660 520 00|74 62 3NN-= «Q 400 52.0
3NV-2 K 200 480 4.0 3 2 3NN+1 9 630 40.0 12.0|23 33 24 V-4 T 200 50.0
3NV-2 4K 200 48.0 4.0| 6 12 3NN+1 42 630 40.0 12.0(24 28 14 S+2 vQ 140 46.0
3NV-2 oK 200 48.0 40| 9 8 3NN+1 v2 630 40.0 12.0|46 52 34 N= 3 140 46.0
3NV-1 K 100 37.0 15.0(25 30 3NN+1 46 630 40.0 12.0|47 54 24 N+1 v8 140 46.0
3NV-1 K 100 37.0 15031 22 3NN+1 9 630 40.0 12.0(25 30 INN+1 2 120 410 1
3NO-1 +J 100 37.0 15.0|46 52 3NN+1 49 630 40.0 12.0|43 53 2NS= 2 120 410 1
3NV-1 K 100 37.0 15.0|47 54 3NN+1 4T 630 40.0 12.0|49 41 1v N= 4Q 80 38.0 1
3NV-1 &2 100 37.0 15.0|51 42 3NN+1 9 630 40.0 120 3 2 24 N-1 &4 -50 27.0 2
3¢ O-1 vK 100 37.0 15.0|61 72 3NN+1 43 630 40.0 12.0|/10 4 2NS-1 *2 -50 27.0 2
2N V-1 K 100 37.0 15.0(63 76 3NN+1 49 630 40.0 12.0| 7 5 44 N-1 *6 -50 27.0 2
3¢ O-1 +J 100 37.0 15074 62 3NN +1 4T 630 40.0 120 9 8 2&N-1 4Q -50 27.0 2
INN= 2 90 28.0 240| 4 10 3NN= +«9 600 22.0 30.0|26 32 44 S-1 +5 -50 27.0 2
14 S-1 + K -50 23.0 290 7 5 3NN= 46 600 22.0 30.0(29 21 24 N-1 v7 -50 27.0 2
2v N-1 48 -50 23.0 29.0|23 33 3NN= +7 600 22.0 30.0|31 22 2NS-1 v5 -50 27.0 2
24 S-1 ¢+ K -50 23.0 29.0|26 32 3NN= +«9 600 22.0 30.0(63 76 2& N-1 v7 -50 27.0 2
INN-1 2 -50 23.0 29.0|64 78 3NN= 42 600 22.0 30.0|65 73 44 S-1 +6 -50 27.0 2
24 S-2 v5 -100 18.0 34.0|65 73 3NN= 9 600 22.0 30.0|67 77 3v N-1 a4 -50 27.0 2
2¢ O+1 s A -110 15.0 37.0(67 77 3NN-= #«9 600 220 30.0| 1 11 3NN-2 v7 -100 12.0 4
2¢ O+1 +6 -110 15.0 37.0(49 41 2&V-3 v7 300 140 38.0( 6 12 2NN-2 2 -100 12.0 4
2¢ O +2 +3 -130 11.0 41.0|27 34 4¢ S+1 48 150 12.0 40.0|27 34 3NS-2 &2 -100 12.0 4
3¢ O+1 *K -130  11.0 41.0(44 48 3¢ S+1 K 130 9.0 43.0|45 50 44 S-2 &K -100 12.0 4
24 S-3 + K -150 8.0 44.0(66 75 3¢ S+1 48 130 9.0 43.0|66 75 INN-2 £Y6) -100 12.0 4
INV +3 &K -180 6.0 46.0(43 53 3NN-1 +9 -100 50 47.0(44 48 2NN-3 v7 -150 3.0 4
3NV = s K -600 3.0 49.0|45 50 3NN-1 *4 -100 5.0 47.0|51 42 3NN-3 v7 -150 3.0 4
3NV = s K -600 3.0 49.0|24 28 3NN-2 *9 -200 2.0 50.0|61 72 3NN-3 £Y6) -150 3.0 4
3NV +2 s K -660 0.0 52.0(29 21 2#RDS-3 8 -1600 0.0 52.0(64 78 3NN-3 v7 -150 3.0 4
21.2 771 - 21.2 771 - 21.2
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